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Negative numbers are numbers less than
zero. Negative numbers have a ‘-’ sign.

Helpful hint

1. Write the next 3 numbers in this sequence.

 -15   -10   -5   0

2. What is the difference between 7 and -2?

3. Start with -4. Add 6. What is your answer?

4. Write the next 3 numbers in the sequence.

 -24   -13   -2   9

5. What has been subtracted from 2 if the
answer is -4?

6. If you subtract 6 from -3 what is the 
answer?

Answer these questions. You do not need to show
your working out.

Are you an arithmetic whizz?

-10 -9 -8 -7 -6 -5 -4 -3 -2 -1 0 1 2 3 4 5 6 7 8 9 10

Positive numbers are numbers greater than 0.


